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Challenge (Answers)

) Abike race is 950 m long.
% Teddy cycles 243 m and
stops for a break.
He cycles another 459 m and stops for
another break.

How much further does he need to cycle
to complete the race?

A train is 20 metres long.
A car is 15 metres shorter than the train.
A bike is 350 cm shorter than the car.

Calculate the length of the car.
Calculate the length of the bike.

How much longer is the train than the
bike?
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Teddy needs to
cycle 248 metres
further.

The caris 5 mand
the bike is 150 cm
or Tm 50 cm.

The trainis 18
metres and 50 cm

longer than the
bike.



